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Topic:- General Hindi

1) <Hr & oY 9% Qe Agl 1 39 Ufed o 1 1 S6pR 22
1. ST SADR

2. A=A SIddR

3. AR 3ABR

4, TUDH ADR

Correct Answer :-

o TUD ADR

2) < G TR HRIGT HIP 91 Td18 AT I T ST A 91 a1 &Y, T &) peT T2
foo T SO TR § 91 9T RN &

1. U I & 998
2. 3¢ PTG

3. 94 DI fad &1 WERI
4. Y P ADS!

Correct Answer :-

. B ANl b AL
3) I BT AL :
1. U, U

2. gdd &1 A, U=
3. GI&fuT, Sard



4. U T2 &1, SIa1e

Correct Answer :-
. T &= &1 MW, Fag
4) 8 gg oW AL fHa1 § 1’ 39 a1 BT [ w4 fAaf@g|
1. 79 Rt I8t B et fpan g
2. 7Y 7g & T fhar B
3. BTG P R IHI§ |
4. 5 a8 o1 e fHa g
Correct Answer :-

. Y U5 B T fpar B

5) 3G DI JY oA I’ 5 IR BT J[5 ¥ fafae|
1. 3UP 3 Ji ol fera|

2. 3G 3D Uy fora |

3. 39 D] Ul Bl fora |

4. 3Yb 3 T ford |

Correct Answer :-

. JGA 3D T ford |

6) ‘d U & Y AP T I’ 5 TR 9T I Tgad a1 | 9gal |
1. d UgH o [org Jxdehlerd 4|

2. 4 g1 I18d U ST JXIdhIad I T

3. d TAPIad U Fifch dl Ug H &l 7@d |

4. d 751 UgA o ey GhTerd U

Correct Answer :-

« 9 UG I8 Y SHIA GEIhIerd el MU

7) <3’ IR A 99 Vg ! 15T
1. 3T

2. ANHA




3. 3
4, 3q

Correct Answer :-

8) 39 UYad aIFd &I YTYRYI a1 | d&feru:
FHA T FHTAT TYT R & 07 W fpg 1’

1. U8 I W T R 1= o =Ror Wi fobu|
2. I W DA 8l = o =R WY b

3. T W FHT HR [E P oR01 W] [Hy|

4, 1 IG W PHr1 Al 3= & IR0 WY fbu

Correct Answer :-

o I W YD IR R & IR0 WY bl

9) 9 ITYRYT 91T I Y a1 | FGfaIg :

g B! Uge 99 UHS HR U I TR die a1’

1. T YoIE Ul o U S! qUTY XM T TR die 33|
2. 98 B! UGl o9 U el 3R U I &R dic 31|

3. 98 UgTl! o9 U el 3R I ddh W dle 3afl|

4. Y[9E UH 99 Ul 3R XMW dh W dle 33|

Correct Answer :-

. Y8 P! UGl Y US| 3R A dh TR alC 3f13f |
10) e o1 31 B:

1. & &1 %, R, fR &1 srTan fgw

2. &1 &1 U, TRUTH, HTell

3. 381 1 Uhed, UIRUMH, TR T [Tl e

4. 9& D1 B, URUMH, I1H

Correct Answer :-

« & &1 %, URUMH, FR BT SRTaT fgwan



11) 3T Yeqg & 941 TG &
1. faaH
2. o
3. diEH
4. §H

Correct Answer :-

12) 3A® 3R Hferd o1 3rf 8-
1. B R AXH
2. TA® 3R AN
3. 09 3R Td®

4. Udh 3R TXdD

Correct Answer :-

. X IR AWD

13) 379 A P19 A1 APy eR<> 1 wafgar= T8 82
1. Fifet

2. RO

3. TYERT

4. gadt

Correct Answer :-

14) 379 | B HTA BTV AL © 2
1. TG

2. 1YY
3. 3fio

4. ATHEYT

Correct Answer :-

o 3ffET



15) SH & B BT BT VG LT 82
1. TeRieh BT
2. HETHTH

3. 9epd

4, UdY BT

Correct Answer :-

16) e & @ #1991 -7, TS faeiy g TH B2
1.%311%%5&
2. dII.diyg

3. 303

4, AU PR

Correct Answer :-
. cufaqw
17) R A S I THR 82
1. Igsie 9H™
2. HHYRY AN
3. 46 9HY
4. fgr gumg

Correct Answer :-

18) ga-1 g1 AgY, fe=dY o it goIRY Gfeat 3Nk werad vafed 8, e ord SuR & o Wy T8t
2, mw@mmwmmwmwﬁaﬁ%l G B 59 fpar o) =gt A
|

1. Jdg-T

2. fo=se
3. “WHHRP
4. “H&ur



Correct Answer :-

19) PeTs 3R el o1 Y §:
1. FemE 3R AR P &l

2. TPl RY SR fea w1 o=
3. HUGIHR] 3R e BT T
4, HRATGIHRY 3R Yidd &7 Fa-

Correct Answer :-

. HUICHRI 3R g BT I

20) HaIYUT P 3ATY FIT $E TPd a2

1. T el
2. Uh YhR h] Helh [

3. U UHR BT HRIB UReor
4. U UHR BT YRING UiReH

Correct Answer :-

. TH UDHR DI AHRID URIET

21) HEYU HId G fHH I1d BT &= @1 Afge?
1. gt 91d1 DT dgT:TGTHR feRa-T aTfgu|

2. it Frgcayuf ST &Y geT ST AR

3. Rith uTe® &1 9eud! a1d SarT aigy|

4. DIs Hedyul a1d el Tl anfgul

Correct Answer :-

. PIs HEAYU &1d e ol AT
22) qdf fgdt =t aieft 8:

1. @SEren

2. B!

3. Bl




4. 3rgeht

Correct Answer :-
. 3faeil
23) PR BT ATH IdC:
FIU 1 YD H, T - URit 3T
Rrrt s 9ift 78, =t R wm
1. I SHADR
2. 3ffaRrAfaT SfddR
3. AP HADR
4, Fe=T SIEPR

Correct Answer :-

24) R E) BT FAER’ BT THE UG 8
1. IRTET
2. AU
3. forTeT
4. IRATET

Correct Answer :-

25) “YTefl BT I YaTar o1 31 3:

1. 2t TgT SR Ht 93 T

2. Tt U@ Ter 3R it g 1A H T8
3. HHt U ver 3R it gER Uel H X
4, 1 TH U SR FHft g FOoR & g1

Correct Answer :-

- Pl U Uar IR Bl gEv val H &

26) ‘g’ 5 U P Al 82



IR

2. ST

3. fewra uew
4, TELUSH

Correct Answer :-

. TEU

27) FART B! WIS el A T Hgd 82
1. TG G311 U8 R Ul 71T S[3+ I

2. fordlt @t FoR IarAT
3, STHIF IR IdRAT
4, AR aTel

Correct Answer :-
- UG g1 I1 UG bR e 71 931 I
28) 3 B! 91d S T8 B TT HEd 82
1. S~gqaHl
2. Sl
3. Sfqw
4, 3fqHA

Correct Answer :-

29) gid Wg HIAT YaTa¥ &1 1Y 3:
1. IR AT

2. IR M|

3. fOxar @

4, Y& PRI

Correct Answer :-

o IR pRATI



30) gYHS BT IS faUg ?:
1. BTl Y Hal
2. B Bl Sl
3. G DI hol
4. 1Y PI Bt

Correct Answer :-

. GBI B!

32) SUf¥pizrd: "gT= Iq" aTelt TI13M & AEd 5440 A DI 82
1. gadiiar™d
2. BIDT gTUL

3. QRe™
4, HER T

Correct Answer :-

. BIDT BT

33) g 3R Ig F1 37 g
1. R AR ¢a

2. R IART UG

3. TR IR TR

4. FHTT 3R Ut

Correct Answer :-

. WIRNUT



34) U &1 fAdm v 8:
1. 3

2. R

3. UER

4. 3afdH

Correct Answer :-

35) A YW & fAHTS &F & el d1AM 8:
1. ATt
2. fAmTSt
3. fmrof
EARLISH

Correct Answer :-

36) 3JUTd HEd 8:

1. Xfd, 819, AMep 1S RIRK UGl 1 UBTRIT a1 Hard HR dTci! 1% bl AP |
2. XM, BTN, M 31 RIRH HTGT DT GHIRIT AT e D aTel 1A |

3. XM, 819, e 3M1f¢ FART HTaT Bl UBTIRIA T Uk b dTcil ST Pt AT
4. SIS, Je U 1S W HTdT D1 YebTRId IT ek D dlell 1% bl AFTY|

Correct Answer :-

. 3, B, A S RIRR UG B UHTRIG T R B aTelt 31 b AP |

37) HOR} U9 HEATdT 3:

1. ;3@u;sﬁ%a@éév%%qaﬁmﬁggwﬁ%ﬁﬁamwﬁaﬁ%@m@awa
|

2. St YTa T&d & forg Rl 41d &1 g¥ - & i Temas 0 8 31d § 3R Rd q 81 ol & |

3. S Y9 had ATel ox & ol Fde &I gy = & MR g ©0 8 $1d § SR qd 9 81 od g |

4, ST U1 Had ATS! &x & forg faUTa &1 g8 FHRA & FfERT T8 © U H 31d § 3R Xd 9 81 o g |




Correct Answer :-

. ;gﬁgﬁhéﬁﬁ@gﬁ?%%ﬁ@ﬁ%ﬁggﬁ%ﬁﬁﬁ%ﬂﬁ&ﬁ%ﬁ?ﬂiﬁwﬁ
|

38) gt &1 9 R T 8:
1. ggurd!
2. gfcat

3. ggHHI
4, fareht

Correct Answer :-

4.9 Rq

Correct Answer :-

40) CANCELLED
Tega’ 30 A R 2
1. 3041

2. BIUHD HYUT

3. D1 DI Th UG

4. gegpel

Correct Answer :-

. HHADITH VG

41) CANCELLED
HHI B Wl et § FTPEA & 2



1. RGBT R |

2. QI IR |

3. U R |

4. IR BTl T HT Hlel, HHd|

Correct Answer :-

. AR BT T T HigT, HIEd|

42) O\ g & ggl ugan, < g gera=n
S IR BT TYad I J-13¢ :

1. I 81 & 987 ug T, oY g HeT Jor|

2. T 981 ugd 3R qRd ¥l §oT|

3. T 981 ugdl, o &) del §oT|

4. 1 g1 ¥ 951 Ug a1 Uel o T
Correct Answer :-

. ¥ 98T ugan 3R g¥d Hel g

43) Y[ dTH Id1¢:

3TY IS FH: JegdT d 75 38% Tohd |
1. BH 3! GHAT B ] 38R Tahdl |

2. 319 JH! GHAT H 76 383 Jbrdl |

3. 31T I8! G & TE e Fahal|

4. 3T I AT & T 38X Jbd |

Correct Answer :-

. 310 3B GHAT & T8 38X Fohd |

44) e Rl 2eg @1 & Tansi
‘Joint Secretary’

1. Ggad Gfa

2. 3R FAgH

3. g UHY
4. 3ffafved fAews



Correct Answer :-

45) frafefad oyt e &t & Tarsie

‘Commissioner’
1. Ygad

2. TR

3. 4

4. frgad

Correct Answer :-

46) FFaferfEa wivwfe W ot sidish gamsi?
"\‘iﬁl”

1. DISCUSSION

2. TREATY

3. TRAETY

4. TRITY

Correct Answer :-

« TREATY

47) HR W ST 4@ Aad|
Y Uie UTe= 3Pl g g 3ru= T wad | |

SWRIG Ufdadl & I |13 32
1. AT Y

2. QA Y

3. 9R ™

4. IR

Correct Answer :-

o dlHcI Y



48) At §g famify o 51 ®, "TRe & | AT
SURIT Uil § B A1 7 82

1. QM Y

2. HOURY

3. B
4.3 3T

Correct Answer :-
. XA
49) YETaRT g1
<3ff¥[P WM 91a I 9gd HH AT =T
1. S P g A g
2.%¢ & gg A ORI
3. g b g o yfa
4. g1 & g W SIRT
Correct Answer :-
. HCcHYgHTNI
50) ¢« W qwraiva & Sitad B GHICT § YR A & SR, fafdedr o R gl g1
HTd BT ATH TdTU:
1. ekl DI’
2. ‘HEIDI’
3. “UdY DHIA’
4. WS BT’

Correct Answer :-

51) Hgledl aUf & HYATIAR:

" pfa foRw &Y urgATet w1 REUr g 1
1, IO

2. g



3. DD
4, “Hfaar

Correct Answer :-

52) B BT ATH FaT3:

TP YD TRUI H 24 AIAY §ell § 1TARGI! A W Ifd giell &:
1. S

2. gRafifdeT

3. el

4, TiifcrhT

Correct Answer :-

53) ¥~ BT ATH IdI3i:

g T 3R IoATed S AT A 4T 8 |1 TSP 4 TN | 24:24 AETE YT 3ifaH S TR0 7 28:28
3(YdT 26:26 ATATE B! &1 S UYH IR Ufaaar A aut ifaw < ufeaal Sewman & gidl &1

1. Jedra
2. WY

3. GRAMcIdT
4, TifdepT

Correct Answer :-

54) HTId1 P 3 Ua B 7
1. HEIT YTF 3R e UG
2. RRied v 3IR BT uat

3. HTST 3R Left

4. WTd Ugf 3R B Ugf

Correct Answer :-

« Y9 U&f 3R BT uef



55) <3i&R Rt wel A uHTiRe g arelht v 82
1. AR

2. SRR

3. G

4, WaTe

Correct Answer :-

56) ‘AT THT Hl A YHIRIG g4 areh ueT 32
1. Hellgrale

2. faIR

3. SIAAHR

4, WaTe

Correct Answer :-

57) Ueadd & A | SYTHRIS Tl &1 SFATaa® AR ardead |
1. Y g1 A15T

2. fOxaR @ g1 AR

3. g1 =R

4, i el =181 BT A8 T

Correct Answer :-

- gt 76T g1 =gy

58) HXUT 3R HUf FT 3 §:
1. TR 3R HH

2. BT 3R 1A

3. THAT 3R AT

4, BTH R B

Correct Answer :-



59) Ieel AR HIaard P Sic’ 39 garax o1 3 3:
1. IR B R HIJAA & gRI Sic ST

2. 30T 3IRTY ST W HYA HIP HIAATd UR FIeet T

3. YT SRTY WHR 7 FRPb YB3 dTd DI 1Y AT

4. U AIRTY WHHR FHRb TS aTd B Iy &1

Correct Answer :-

o SUAT IIRTY WHHR 7 FHRb TS a1d I a1y &1

60) I T B! TTH I U 3R 2 f3u T uzq H1 3@ &

A T Sl 9gd TYHYT gl 31 S/ W W HISATS BT JTHAT HIAT UST 2|
fpv Wt $3R & gRT S A7 = aegE @) A 59 gt R gE @ W sRAt dTr U S
oo T 1 98 TR HH B3 a1d A1 & SMYR R g1 fewr gam 31 3aar oft 37 swaf
Fd ¢ | IS U+ HH:§d & PRUI AT 8| U= 8, i P oita- |

e : Suad e &1 IR e fefau)
1. ‘il o=
2. ‘U TS
3. ‘HHLNA AT
4, ‘ST AT

Correct Answer :-

61) SH T & &9 9 U 3R 1 feu Ty +13"R <

TSI &1 Sila- 9§ HUYHY g1d1 8 | 39 W R HiSA3a] dT AT sATusar gl R W ssR &
ERT S 7w &4t aRegE @ A 39 7t R g2 8 91 Rt &1 =0 € 9qa T 31 9% AR o
P T AT & YR WR &) fewpr gam g1 aan +ff 379 swf #va 81 7= 3 w9 d & HRUT
Y T U9 8, AT BT g |

Y : 3 T & SR, U BT g ST gl 82



1. A &7 Sita oy Ied gar gl
2. U™ PT Sitaq 9gd FRAR i1 8|
3. TS &1 oiia- 9gd SavAg gl 6|
4. TS B! Siia- 9gd GeuHd g ¢

Correct Answer :-

« TI9 &1 oiia 9gd Ga8HY gl g |

62) 9 TR & &9 9§ U¢ 3R 1 f3u ¢ yzq #1 37w <

TSI &1 SilaT 984 HUYHY gid1 8 | 39 W R HiSA18a] T AT sATusar gl R MR &
ERT St A &4t aRegE @ A 39 7t R g2 8 91 R &1 =0 € 9ga T 31 9% AR o
P T AT & YR WR &) fewpr gam g1 aan +ff 379 swf #va 81 7™ 3 &+ 9d & HRUT
9% 3| U= §, T BT Sfta|

Y : 3 I & SR, W & B TT AR 82
1. Igsife U™

2. HHYRY TH

3. fe qH

4, 3T AT

Correct Answer :-

o HIIHEG FHN

63) 9 T & &9 9§ U¢ 3R 1 f3u ¢ yzq #1 3" <

TS &1 Sila- 9§ HUYHY g1d1 8 | 39 W R HiSA13a] ST AT sATusar gl R MR &
ERT S A 41 aRegE @ A 39 7t R g€ 8 91 R &1 =0 € 9ga T 31 9% AR o
P T AT & YR WR &) fewpr gam g1 aan +ff 379 swf #va 81 7™ 3w 9d & HRUT
9% 3| U= §, T BT Sfta|

Y - 39 Tl & IR, ¢adT frad gwaf #3d 82
1. adT, 3qa1 ¥ $f v B

2. adT 7S 9 s e B

3. G U ¥ 5 R B

4. 3qd1 g9 § $%1 A B |



Correct Answer :-

- e TS 9 1 R B

64) U &I U A U 3R R RE M Uy F13=R &

TSI &1 Siia- 9gd HUYHY gidT 8 | 39 W R HISA18a) ST AT ST usar gl R MR &
ERT S A =4t aregE Y e 39 7t R g2 8 a1 R &1 =0 8 9ga T 81 9% AR o
P I8 AT b YR W g o1 gam 31 3aar oY 37 swuf #=a &1 v 3 v ad & SR
g 21 U=I &, IS P oita |

T 3 TR & TR, A I 9T 32
1. TS 30 HH.q0 P HRUTIT

2. TS 30 Yo 9 & BRI AT ¢ |

3. A% 30 B1Y: IR & BRI T

4. T 30 §fG & HRUT I ]l

Correct Answer :-

. TS A HH-9 F HROIF 3

65) 39 U B! LOH | Ue 3R 1 f3u ¢ 4= &1 3« &

A BT § GRS IR
STHHT | SIS TS |
HA BT § dal TP
9 IR W 3PS fears |
T T g TG TTH
R E 99 W 4 TS |
T AT § UTIT §9H
# oY 3t IS werd |
T Xl g faael e
WG IS 15 |

T BT § I IR
WM i g |



TY: g% H B AT AP 82
1. 3RS 3TABR
2. TUP ADR

3. ST STABR

4. Y adHon|X] 3APR

Correct Answer :-

66) 9 U &I & 9 U¢ 3R I feu ey 1 Iww &

A BT § GRS IR
SRTAT H SIS TS |
HA BT 8 9al THP
9 IR W 3PS fe@rs |
T HXdT g TG B
W H 99 W 4 TS |
T T § UTIT §9H
# Y St IS werd |
T el g faael s
W ISAT WS |

T BT § I IR
WM i g |

Uy :WWWWWW%?

1. 9191 I=dT §9hR TR T 99 TR 19 STHAT I8 dl 2|

2. T 9161 SR TR H 99 TR g1 SHFT Igdl g

3. T 916 SR IR B I TR 1 a1 I8l 2|

4. 9191 S ST Y1 ST IedT & |

Correct Answer :-

« 97 9161 TP R T Jd W 4G SHHT Irgd1 g



67) 3 UG B! SO 4 U¢ 3R 12 f3u 10 gy H1 3w &

AT BT § IS TR
SRTAT | QS TS |
A HA1 ¢ daT a9
9 aRI IR @S fGuns |
T BT ¢ T B
W H 99 W 4 TS |
T ST g UTUT g9
# Y S IS TerS |
T HRaT g faac a9
W ISAT G|

T BT § BT IAD
e WS Sta 15 |

U%[:WWWBE_?TW%?

1. =1 4TS SeTS SR gR-gR IS d1edl gl
2. S T FIHR GR-gX 3T AT g |
3. ST Y&l SR g2 ST ARl 5|

4. g fodell IR gR-gX IS I8l 6|

Correct Answer :-

. S fordel SR gR-gR IS AEdl |

68) 3 U B! tUTH | U¢ 3R 12 fu 7T¢ yw= 13« &

A BT § GRS IR
SMTYHT A S8 TS |
HA ST § 9ol TH
9 IR | 3PS fears |
T HXdT g TG TTB
W 9 R 8 TS |

H BT ¢ UTHT S



# ot 3o+t ® eS|
A e § foael g
FRE-ARCRLIE I

T FHRdl § DI TAPR
WM 9ia g |

WY: I<AT d¢ 1 a1 918l 82

1. 0 % I8 AT R @R @M1 awar g

2. T {3 98 T R eips fg@mT argar g

3. I % a8 aRI &1 1o PR feam1 Amg e 3|
4. T {3 98 IRI W 31 S fe@mT agdl 5

Correct Answer :-

. T} % a8 IR WR 318 feamT amgar g

69) 3T U H! AT 9 U¢ 3N 1 3T T8 U #13IaR &

AT BT § IS TR
STHHT H I8 TS |
A A1 ¢ daI a9
9 IR | 3P s fe@rs |
T BT g T B
W H 99 W 4 TS |
T HXdT g UTUT g9
# Y S IS TerS |
T FHvaT g faac! a9
W ISAT S|

T BT § HIAA IAP
e WS Sta 15 |

UY: HTod P Ifud M |1 22
1. FA BT ST
2. ‘[ P AT



3, <d B AT
4. QN &1 YT
Correct Answer :-

o T BT AT

70) Iu@! fe=m =St A B

T a1 | TS TAd 2eg T TANT §3T 8, I U B DY SUDT ! Weg UgaI—g?
1. 3T

2. G

3. femd

4, AT

Correct Answer :-

Topic:- General English

1) Choose the appropriate preposition for the given sentence:

She hid her disappointment _______ a smile.
1. without

2. with

3.1in

4. through

Correct Answer :-

o with

2) Choose the appropriate preposition for the given sentence:

We recommend you to take advantage this offer.

1. at

2.1n

3. off

4, of



Correct Answer :-

3) Choose the appropriate preposition for the given sentence:

Any illegal goods will be confiscated _____the customs officials.
1. to

2. off

3. with

4. by

Correct Answer :-

4) Choose the appropriate prepositions for the given sentence:

He lied me the incident.

1. by, in
2. for, at
3. at,on

4, to, about

Correct Answer :-
e to, about

5) Choose the appropriate articles for the given sentence:

There was signboard at entrance of the boutique informing passersby about its launch,
next month.

1. a, the
2.an, an
3. an, the

4. an, a

Correct Answer :-

e 3, the



6) Choose the appropriate articles for the given sentence:

He has nerve to publish article that could cause friction among the different sections of
society.

1. 3,2
2. the, the
3.an,a

4. the, an

Correct Answer :-

e the, an

7) Choose the appropriate articles for the given sentence:

lack of communication skills is frustrating and can make _______ aspiring student oversensitive.
1. An, the
2. A a
3.An,a

4. The, an

Correct Answer :-

8) Choose the appropriate articles for the given sentence:

Instead of ___ apple,sheate _____ bowl of porridge for breakfast this morning.
1. g, the

2. an, the

3.an,a

4. the, an

Correct Answer :-

9) Choose the appropriate usage to fill in the blank:

We tried hard to get the problem solved without any help.

1. real



2. greatly
3. really

4. extremely

Correct Answer :-
e really

10) Choose the correct form of verb for the given sentence:

Phosphates ____ to most farmlands in America.
1. need to adding

2. need to add

3. need to be added

4, need added

Correct Answer :-
e need to be added

11) Choose the correct form of verb for the given sentence:

Last week, Jenny ___ most of her holidays on the beach.
1. spent

2. spends

3. was spending

4. is spending

Correct Answer :-

12) Choose the correct form of adverb for the given sentence:

| accepted the new task
1. carefully

2. greatly

3. methodically

4. willingly



Correct Answer :-
o willingly

13) Choose the correct form of adverb for the given sentence:

Heruled _____ for many years.
1. wisely

2. hardly

3. interestedly

4. interestingly

Correct Answer :-
e wisely

14) Choose the correct form of adjective for the given sentence:

The villain in the movie hates the hero and desires to harm him and so becomes
1. violent

2. good

3. crude

4. benevolent

Correct Answer :-
e violent

15) Choose the correct form of adjective for the given sentence:

Meghna uses her common sense; she is always
1. sensuous

2. hypersensitive

3. sensible

4. sensitive

Correct Answer :-

e sensible



16) Choose the correct form of expression to complete the sentence:

His partner died, and this added to his _____
1. difficulties

2. progress

3. dangers

4, fortune

Correct Answer :-
o difficulties

17) Choose the correct form of expression to complete the sentence:

He spoke in a distinct
1. method

2. voice

3. speech

4. sound

Correct Answer :-

e voice

18) Choose the correct form of tense for the given sentence:

I shall not go swimming until thesun _____ out.
1. will have come

2. is coming

3. will come

4. comes

Correct Answer :-

19) Choose the correct form of tense for the given sentence:

He in love with her over a year ago.

1. fell



2. falls
3. has fallen

4, fallen

Correct Answer :-

o fell

20) Choose the correct form of tense for the given sentence:

I know all about that film because | ______ it twice.
1. have been seeing

2. have seen

3. am seeing

4. will be seeing

Correct Answer :-

e have seen

21) Choose the correct form of tense for the given sentence:

If the painting is good, they it in the exhibition.

1. will hang
2. will have hung
3. would hang

4. hung

Correct Answer :-
e will hang

22) Choose the most suitable determiner for the given sentence:

Let'slistento __ music on the radio.
1. afew

2. some

3. little

4. much



Correct Answer :-

23) Choose the most suitable determiner for the given sentence:

participant is expected to obey the rules of the game.
1. Any
2. All
3. Either

4. Every

Correct Answer :-

24) Choose the active voice of the sentence.

The poor are helped by her.
1. She is helped by the poor.
2. She is helping the poor.
3. She helps the poor.

4. She helped the poor.

Correct Answer :-
¢ She helps the poor.

25) Choose the correct form of modal auxiliary verb for the given sentence:

The car broke downand we ______ to get a taxi.
1. have

2. had

3. are having

4. has

Correct Answer :-

e had



26) Read the passage carefully and answer the question given below:

Henderson Island in the South Pacific Ocean has always been known for its remarkable biological
diversity and untouched ecology. Now, the remote UNESCO World Heritage site that lies 3,100
miles (5,000 km) from the closest human settlement, can also lay claim to being one of the most
polluted places on Earth.

Jennifer Lavers, a researcher from the University of Tasmania’s Institute for Marine and Antarctic
Studies who has been studying the coral atoll for a few years, says the tiny, 14.4 square miles
(37.3 square kilometers), island is home to over 38 million pieces of waste. According to the
scientist, this is the “highest density of anthropogenic waste recorded anywhere in the world,
with 99.8 percent of the pollution plastic.”

The amount of trash is surprising given that the island, the largest of the group of four Pitcairn
volcanic islands, has no residents and is visited by scientists only once or twice every decade.
However, as it turns out, humans do not need to be physically present to pollute an area. In this
case, the trash is brought in by the South Pacific Gyre, an ocean current that sends garbage
bobbing through the sea to Henderson. The primary offenders are fishing-related debris, like
lines and nets, and single-use household items.

What's even worse is that the unsightly rubbish scattered across the island’s sandy beaches is
just the tip of the iceberg. According to the researchers, over 68% of the junk is buried under the
sand. This means their estimates, based on the trash found up to 10 centimeters below the sand,
may be underestimating the full extent of the pollution.

Besides being aesthetically unpleasing, the waste is also harmful to the island’s wildlife. Lavers
and study co-author Alexander Bond discovered hermit crabs taking refuge in toxic cosmetic
jars, and sea turtles, which come to the island to lay eggs, get entangled inside fishing lines. The
trash is also harmful to seabirds and fish that mistake the colorful plastic pieces for food.

Question: A suitable title for the passage:

1. Henderson Island: A Pitcairn volcanic island

2. The problems on Henderson Island

3. The once pristine Henderson Island is now covered with waste

4. The endangered species of Henderson Island

Correct Answer :-

e The once pristine Henderson Island is now covered with waste

27) Read the passage carefully and answer the question given below:

Henderson Island in the South Pacific Ocean has always been known for its remarkable biological
diversity and untouched ecology. Now, the remote UNESCO World Heritage site that lies 3,100



miles (5,000 km) from the closest human settlement, can also lay claim to being one of the most
polluted places on Earth.

Jennifer Lavers, a researcher from the University of Tasmania’s Institute for Marine and Antarctic
Studies who has been studying the coral atoll for a few years, says the tiny, 14.4 square miles
(37.3 square kilometers), island is home to over 38 million pieces of waste. According to the
scientist, this is the “highest density of anthropogenic waste recorded anywhere in the world,
with 99.8 percent of the pollution plastic.”

The amount of trash is surprising given that the island, the largest of the group of four Pitcairn
volcanic islands, has no residents and is visited by scientists only once or twice every decade.
However, as it turns out, humans do not need to be physically present to pollute an area. In this
case, the trash is brought in by the South Pacific Gyre, an ocean current that sends garbage
bobbing through the sea to Henderson. The primary offenders are fishing-related debris, like
lines and nets, and single-use household items.

What's even worse is that the unsightly rubbish scattered across the island’s sandy beaches is
just the tip of the iceberg. According to the researchers, over 68% of the junk is buried under the
sand. This means their estimates, based on the trash found up to 10 centimeters below the sand,
may be underestimating the full extent of the pollution.

Besides being aesthetically unpleasing, the waste is also harmful to the island’s wildlife. Lavers
and study co-author Alexander Bond discovered hermit crabs taking refuge in toxic cosmetic
jars, and sea turtles, which come to the island to lay eggs, get entangled inside fishing lines. The
trash is also harmful to seabirds and fish that mistake the colorful plastic pieces for food.

Question: What is the main idea of the passage?
1. Henderson Island, though untouched by humans, has become the most polluted places on earth.

2. Henderson Island is today looking ugly with the amount of trash dumped there because of human
settlements

3. The trash on the island is harming marine life since fishes eat the colorful plastic pieces mistaking them
for food.

4. The waste is turning out to be alarmingly dangerous to the ecology.

Correct Answer :-

» Henderson Island, though untouched by humans, has become the most polluted places on earth.

28) Read the passage carefully and answer the question given below:

Henderson Island in the South Pacific Ocean has always been known for its remarkable biological
diversity and untouched ecology. Now, the remote UNESCO World Heritage site that lies 3,100
miles (5,000 km) from the closest human settlement, can also lay claim to being one of the most
polluted places on Earth.



Jennifer Lavers, a researcher from the University of Tasmania’s Institute for Marine and Antarctic
Studies who has been studying the coral atoll for a few years, says the tiny, 14.4 square miles
(37.3 square kilometers), island is home to over 38 million pieces of waste. According to the
scientist, this is the “highest density of anthropogenic waste recorded anywhere in the world,
with 99.8 percent of the pollution plastic.”

The amount of trash is surprising given that the island, the largest of the group of four Pitcairn
volcanic islands, has no residents and is visited by scientists only once or twice every decade.
However, as it turns out, humans do not need to be physically present to pollute an area. In this
case, the trash is brought in by the South Pacific Gyre, an ocean current that sends garbage
bobbing through the sea to Henderson. The primary offenders are fishing-related debris, like
lines and nets, and single-use household items.

What's even worse is that the unsightly rubbish scattered across the island’s sandy beaches is
just the tip of the iceberg. According to the researchers, over 68% of the junk is buried under the
sand. This means their estimates, based on the trash found up to 10 centimeters below the sand,
may be underestimating the full extent of the pollution.

Besides being aesthetically unpleasing, the waste is also harmful to the island’s wildlife. Lavers
and study co-author Alexander Bond discovered hermit crabs taking refuge in toxic cosmetic
jars, and sea turtles, which come to the island to lay eggs, get entangled inside fishing lines. The
trash is also harmful to seabirds and fish that mistake the colorful plastic pieces for food.

Question: The underlined phrase, “just the tip of the iceberg” in Paragraph 3 in the passage
means:

1. All of the above
2. There is more junk under the sand that meets the human eye.
3. The pollutants are fishing-related debris, like lines and nets, and single-use household items.

4. The sandy beaches have a lot more of biological diversity and untouched ecology today.

Correct Answer :-

e There is more junk under the sand that meets the human eye.

29) Read the passage carefully and answer the question given below:

Henderson Island in the South Pacific Ocean has always been known for its remarkable biological
diversity and untouched ecology. Now, the remote UNESCO World Heritage site that lies 3,100
miles (5,000 km) from the closest human settlement, can also lay claim to being one of the most
polluted places on Earth.

Jennifer Lavers, a researcher from the University of Tasmania’s Institute for Marine and Antarctic
Studies who has been studying the coral atoll for a few years, says the tiny, 14.4 square miles
(37.3 square kilometers), island is home to over 38 million pieces of waste. According to the
scientist, this is the “highest density of anthropogenic waste recorded anywhere in the world,
with 99.8 percent of the pollution plastic.”



The amount of trash is surprising given that the island, the largest of the group of four Pitcairn
volcanic islands, has no residents and is visited by scientists only once or twice every decade.
However, as it turns out, humans do not need to be physically present to pollute an area. In this
case, the trash is brought in by the South Pacific Gyre, an ocean current that sends garbage
bobbing through the sea to Henderson. The primary offenders are fishing-related debris, like
lines and nets, and single-use household items.

What's even worse is that the unsightly rubbish scattered across the island’s sandy beaches is
just the tip of the iceberg. According to the researchers, over 68% of the junk is buried under the
sand. This means their estimates, based on the trash found up to 10 centimeters below the sand,
may be underestimating the full extent of the pollution.

Besides being aesthetically unpleasing, the waste is also harmful to the island’s wildlife. Lavers
and study co-author Alexander Bond discovered hermit crabs taking refuge in toxic cosmetic
jars, and sea turtles, which come to the island to lay eggs, get entangled inside fishing lines. The
trash is also harmful to seabirds and fish that mistake the colorful plastic pieces for food.

Question: Which of the following statements is FALSE according to the passage?
1. According to the researchers, over 68% of the junk is found on the sand.

2. The trash found up to 10 centimeters below the sand, may be underestimating the full extent of the
pollution.

3. The tiny island is home to over 38 million pieces of waste.

4. The island is harmful to the wildlife living there.

Correct Answer :-

e According to the researchers, over 68% of the junk is found on the sand.

30) Read the passage carefully and answer the question given below:

Henderson Island in the South Pacific Ocean has always been known for its remarkable biological
diversity and untouched ecology. Now, the remote UNESCO World Heritage site that lies 3,100
miles (5,000 km) from the closest human settlement, can also lay claim to being one of the most
polluted places on Earth.

Jennifer Lavers, a researcher from the University of Tasmania’s Institute for Marine and Antarctic
Studies who has been studying the coral atoll for a few years, says the tiny, 14.4 square miles
(37.3 square kilometers), island is home to over 38 million pieces of waste. According to the
scientist, this is the “highest density of anthropogenic waste recorded anywhere in the world,
with 99.8 percent of the pollution plastic.”

The amount of trash is surprising given that the island, the largest of the group of four Pitcairn
volcanic islands, has no residents and is visited by scientists only once or twice every decade.
However, as it turns out, humans do not need to be physically present to pollute an area. In this



case, the trash is brought in by the South Pacific Gyre, an ocean current that sends garbage
bobbing through the sea to Henderson. The primary offenders are fishing-related debris, like
lines and nets, and single-use household items.

What's even worse is that the unsightly rubbish scattered across the island’s sandy beaches is
just the tip of the iceberg. According to the researchers, over 68% of the junk is buried under the
sand. This means their estimates, based on the trash found up to 10 centimeters below the sand,
may be underestimating the full extent of the pollution.

Besides being aesthetically unpleasing, the waste is also harmful to the island’s wildlife. Lavers
and study co-author Alexander Bond discovered hermit crabs taking refuge in toxic cosmetic
jars, and sea turtles, which come to the island to lay eggs, get entangled inside fishing lines. The
trash is also harmful to seabirds and fish that mistake the colorful plastic pieces for food.

Question: According to the passage, what could be the main cause of the island’s dangerous
state?

1. Scientists
2. The ocean currents that deposit garbage bobbing through the sea to Henderson
3. The island’s geographical position as it lies closest to human settlement

4, Residents

Correct Answer :-
o The ocean currents that deposit garbage bobbing through the sea to Henderson

Topic:- General Knowledge

1) 1f 3" of the month is Friday what day will be on the 4th day after the
215t of the month?/ IR AR FT AR I YHFIR A ST TER A 21 TRE F A &
@ o B A A e

1. Wednesday/ 94dRR
2. Tuesday/ GdR
3. Saturday/ YR
4. Monday/ IR

Correct Answer :-

. Saturday/ AR

2) sudesh ranks seventh from the top and 28th from the bottom. How many
students are there in the class?/ &= &7 3t I Araai I § 9471 1 A 2831 R &1
H&T W BT P SB fra 82



1. 35
2.28
3.21

4.34

Correct Answer :-

3) In the following question, select the related letter/word/number from the

%ggn alternatives:/ fA=fefad =z @ fow e faweul o @ T Ra seR/Rreg/Hen &t
|

24 : 60:: 120:?
1.108
2.220
3.160
4. 300

Correct Answer :-

- 300

4) In the given diagram, Circle represents strong men, Square represents
short men and Triangle represents military officers. Which region represents
military officers who are short but not strong?/ fer T e ), QHHWW
DI gRITaT 8, T BI¢ YUl $i g=iiaT 7 3R Ay A= frep1ival &t qxifar 81 w1 &3 3+
Q=7 Siftrerival #) qxifar § St 81 & afe arepaar T8 82

2.2

3.3

4.1

Correct Answer :-



5) DIRECTIONS: Solve the alphanumeric series given below:/ &= =& s
SERTH T YUt B g6 PY:

A4, DS, H16, M32, ?
1. P64
2. S64
3. 064

4. R64

Correct Answer :-

6) Select the related word from the given alternatives:/ ﬁ'l'{ﬂ'l!ﬁﬁtﬁﬁﬁﬁ'qﬂ

TG B giT:

POINT : LINE::/ fdg : ¥@m::

1. Triangle: Square /ﬁﬂ\_ﬂ - i

2. Centre : Circumference / &g : GRTY
3. Word : Newspaper / Xsq : HER-UF

4. Line : Circle /34T : gq

Correct Answer :-

« Word : Newspaper / e : GHER-UA

7) Select the correct combination of mathematical signs to replace * signs

and to balance the given equation:/ * ﬁr@ﬁmﬁ%maﬁvﬁqwqﬁmﬂﬁ
Tgfera o= & fore fvrda Havdl &1 I8t Jare g4

5*5*x5%*3 %10

1.+ -x =

3.+ + X =

4. X + = x



8) Which figure represents the exact relationship with the variables given in

questions?/ HH 3MHfa uy H AT ¢ sraual & 1y fAf¥a gy o1 guiidt 82

EOEED)
- @ .00

Animal, Dog, Cat/ U¥], $I, faeett
1.D
2.B
3.C

4. A

Correct Answer :-

9) Which one will replace the question mark (?)?/ ﬁﬂﬁ'@fﬁﬁmﬁlr_ﬁ:(?) Ca|
wfaeaTid Hem?

25 101 2
7 /\ 24 1{]/\ 99 n/\m:
1.61
2.75
3.93
4. 44

Correct Answer :-

10) During which of the following festivals is the Baredi folk-dance performed?/ frafafea
# ¥ 5T ITa & SR Tt i o fvar sirar 82

1. Diwali/fearat



2. Holi/ gIail
3. Janmashtami/\_rFEITQﬁT
4. Baisakhi/ Sl

Correct Answer :-

« Diwali/fearct

11) Since which year did Gandhiji enter active politics in India for the first time?/ LK
i Sff A ggelt IR URG A Afeha Ierifa | was foear ur?

1. 1917
2.1918
3. 1919

4. 1916

Correct Answer :-

e 1917

12) Sakhya Sagar, an artificial lake is situated in the — / ST IR ATH® ﬁ%n:r gﬂ?r ﬁ'\f
@ g2

1. Madhav National Park/ AT ST e

2. Pench National Park/ﬁﬂﬂgﬁl‘[?@ﬂ:{

3. Kanha National Park/ &1l ?T@Tl REIG|

4. Fossil National Park/ SiaTeH 81 e

Correct Answer :-
« Madhav National Park/ HI¢d JS1T I

13) Till the formation of the Chhattisgarh state, Madhya Pradesh was the state in
India./ BIRIG YT & TS dF, A U HRA BT T AT

1. Largest/ SCR EE]

2. Second Largest/ gixI SESKS])
3. Third Largest/ GIRRESCR dgl
4. Fourth Largest/ YT gy qgl

Correct Answer :-

» Largest/ ey dgl



14) The Fair of Mahamrityunjay in Rewa is held -/ ﬁmﬁwﬁw Smaifora farar smar
T-

1. Every 2 years/ g2 ag &
2. Every 3 years/ PIckELR:
3. Every year/ gfd a9 o

4. Every 5 years/ gfa 599 A

Correct Answer :-

« Every year/ Ufd ay &

15) The Nobel laureate Liu Xiaobo who recently passed away belonged to -/ qﬁﬁw
fatan forg foratenat ot g1 €1 A e 81 war o, wgT | awefia A2

1. China/ T
2. Japan/ IlUr—q

3. Thailand/ UTSdiS

4. North Korea/ TR SIRAT

Correct Answer :-

« China/ dH

16) In which year did Baji Rao | conquer Bassein from the Portugese?/ EnEL R IEIRICE
= geTelt 9 af¥ ot Sfta e 42

1.1738
2.1741
3.1739

4. 1740

Correct Answer :-

« 1739

17) In which year did the Madhya Pradesh Government introduce the Samadhan Online? /

AU I PR A 5T af & g9 g &1 3w frar?
1. 2009
2. 2006

3. 2008



4. 2007

Correct Answer :-

« 2006

18) In which year did Peshwa Baji Rao Il cede a greater portion of the Sagar district to the

British?/ fort o ® U=ra a6l W19 fgdia = AR Rra &1 ¢ a1 U fafe=n & iy fear ure
1. 1819
2.1818
3. 1820

4. 1821

Correct Answer :-

- 1818

19) In which district is the Ahmadpur Rock Shelter found?/ S[gHQYR 7P e fow A &
fRag?

1. Khandwa/ ©sdl
2. Vidisha/ fafe=m
3. Rewa/ 3T

4. Raisen/ JYA

Correct Answer :-

e Vidisha/ Ialaﬁll

20) In which year was the Tulsi Award founded in Madhya Pradesh?/ Hiﬂmﬁﬂﬁ?ﬂ
RRER fog o & wifue far war ur?

1. 1980-81
2. 1983-84
3. 1982-83

4. 1981-82

Correct Answer :-

« 1983-84

21) Who was the father of Ashoka?/ 3N & fUdr &1 A2



1. Chandragupta Maurya/ I& G4

2. Brihadratha/ de&¥

3. Bindusara/ ﬁw
4. Kunala/ @UITclT

Correct Answer :-

. Bindusara/ fe/gaR

22) Which of the foIIowmg rhythm instruments is used in the Swang folk-dance?/

Frafafea ara Suson - [T W Aip-gd W IuERT fvam Sirar 82
1. Mridang/ 9T
2. Dafli/ Shdl

3. Tabla/ dddl
4. Khol/ @

Correct Answer :-

« Mridang/ &

23) Which of the following instruments has its strings made of horse-hair?/ fafafaad @

HH- 9 IR T P dR 9IS $ 919 9 99 72
1. Ektara/ UhdRT

2. Chinkara/ fii®RT

3. Khamak/ @H$

4, Rawanhatta/ X1dUlgdl

Correct Answer :-

« Chinkara/ &R

24) Which of the following clans of Rajputs is the Khajuraho temple associated with?/

iyl & fFrafifad 9 d @ $19- 91 @oRTe) w@ieR A JeT g 2?
1. Parmara/ USHR

2. Chandela/ gd

3. Baghel/a’aﬂ

4. Tomar/ AR

Correct Answer :-



« Chandela/ Ei%'«?f

25) When was the Panna National Park declared a Tiger Reserve?/ AT Tl'@'q I DI
eER RYord Fa aifta fosam mar ur?

1. 1996
2. 1995
3. 1994

4. 1997

Correct Answer :-
« 1994

26) Where is the Gun Carriage Factory situated in Madhya Pradesh?/ e YR § 9 B
et Bl YT 82

1. Jabalpur/STeeiyr
2. Bhopal/ Hara

3. Indore/ AR
4. Gwalior/ TaTeRIR

Correct Answer :-

« Jabalpur/SIS¢TyR

27) Where is the Netaji Subhas Chandra Bose Airport located?/ Adreit JUTY T a9 331%
g1 Hgi RAA 3?2

1. Mumbai/ 45§
2. Delhi/ feeat

3. Bengaluru/ W
4. Kolkata/ SIeiepTdl

Correct Answer :-

« Kolkata/ BIcpTdl

28) Where was the 19" RCEP Trade Negotiating Committee Meeting held?/ 1991 3R
YR qTdi A @ 955 Bei B 18 A2

1. Hyderabad/ %GQI@HG
2. Bengaluru/aﬁ'@



3. Kolkata/ IefepTdl
4. Amritsar/ {HdOX

Correct Answer :-

« Hyderabad/ %GQIGIG

29) What is the capital of Spain?/ T P IS FT &2
1. Madrid/ Afgs

2. Bucharest/ W

3. Belgrade/@?l’fl_s’

4, Warsaw/ arar

Correct Answer :-

. Madrid/ Af$s

30) What does the ‘I in MPTRIFAC stand for?/ THUIAISRMETHEAT | '31TS" 7T 3 71 872
1. Industry/'&‘@tﬁj

2. Investment/ S@Eﬂ?

3. Income/ gdhH

4. Investor/ 3@??

Correct Answer :-

« Investment/ 3A%HC

31) Which Gharana did Krishn Rao Pandit’s singing belong to?/ W?‘Iﬂﬁ%ﬂﬂm
PH- A WA A Jafia g2

1. Maihar Gharana/ 383 TRMT
2. Indore Gharana/ s’élz YRTHT

3. Gwalior Gharana/ TaTeTOR ORI

4. None of these/ 's{T-I'Ef I Tﬁ'sc T-FE;‘T

Correct Answer :-

« Gwalior Gharana/ TaITerIR ORI

32) Whom did Akbar send to capture Mandu?/ /@& J Hig UR Heal B & forg fHd Herm
Y1?



1. Mohammed Khan/ HIgHE T
2. Bairam Khan/aW@Ff
3. Kamran Mirza/WﬁTﬂf

4, Adham Khan/ 3YH Wl

Correct Answer :-

¢ Adham Khan/ 3{YH W+

33) Over which of the following produce does the Madhya Pradesh Government have a

trade%monopoly?l fFrafafad & Q F9 91 7Y TWER $T TS ATIIRS THIRIBR arer
IU 872

1. Sal Seeds/ ITd &1 §Io]
2. Cotton/ UMY
3. Teak/ I

4. Wheat/ ﬁ'ﬁ"

Correct Answer :-

« Sal Seeds/ ITd BT ol

34) The following question is based on a code language in which FORMATION
is written as ZSXTJOBSL and RACIAL is written as XJNBJQ. How is RATIONAL
written in this language?/fAufiaf@a uy d, v e HTwT W menfya 3 forgw
FORMATION & ZSXTIOBSL 94T RACIAL &1 XINBIQ forar wimar 8 1 59 v #
RATIONAL &3 forar mar g2

1. XJOBSLIQ
2. XJOBSILQ
3. JXOBSLIQ
4. JXOBSJILQ
Correct Answer :-
« XJOBSLIQ

35) In a certain code BRIGHT is written as JSCSGF. How is JOINED written in
that code? /T fAf3d $e UTWT &, BRIGHT &1 JSCSGF f@1 Wa1? | JOINED 39 e
#, 2 forar smam?

1. JPKEFO

2. None of these/3TH T ®Is gl



3. KPJICDM

4. JPKMDC

Correct Answer :-

« None of these/stlﬁﬁaﬁ'scqﬁ

36) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi‘x’rz ﬁ%ﬁqwmﬁgﬁ;mﬂﬁ?m
1 $© Frepd fa e &1 3y faT T Sy & I AT @ YA 81 3 Tdga aa S i
wofta gia gf | it st &) ufew fbr aa Fifore ¥ faw e et & @ w9 fAsed fg e
FYAI BT TG U F IRV BT 8, TS TI7Td a2 $© ot |

Statements:/ HYH:

Some gates are keys./ TS o34, Al g
Some keys are locks./ $© T1fadl, ard g1

All locks are woods./ Q'-Fl-ﬁ?l'lﬁ, W%I

No wood is gate./ I adbsl, a8l gl
Conclusions:/ﬁ'mﬂf:

I. No lock is gate./ ®Ig dTell, g¥ars A8 g

II. Some woods are keys./ waﬁf, ﬂTﬁ'ﬁ%l
III. Some keys are not gate./ $ A4l gIaTe T8l &
1. None follows/ ﬁ'&‘ ot &aﬂwqﬁw%

2. Only I and II follow/ %ad I 3R I ¥RV Hd &
3. Only I follows/ %ad I R0 BT §

4. Only II foIIows/WII G@TUTW%

Correct Answer :-

« Only I and II follow/ %ad I 3R II IR Hd &

37) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi“\’r: ﬁ%ﬁqwmﬁwmﬁaﬁvwﬁ?
1 $o et fu e 71 simue) faT T Y= & I a=-1 § Ha €1 3 dya 9wl | e



Tdia gid g1 | It st ot ufew fibr au Fifore o fou e fseuf 9 @ Hi9-ar ey feg e
HYH) BT THHINA Y Y STV AT 2, I8 FI9d 9 5o W &1

Statements: /P Y:

Some cars are wheels./ $ TR, URT 3|

All wheels are branches./ 41 ufgu, Sifear g1

Some branches are tins./$® siferdl, oA 8
Conclusions:/ﬁwﬂf:

I. Some cars are branches./ $9 ®RR, @'ﬁl‘ﬁ?l

II. Some tins are branches./$® feq, sife@r gl

1. Only Conclusion I follows/ Had FT5HY I G{WW%

2. Either Conclusion I or II foIIows/qTﬁEb‘EfI qr 11 WW%
3. Only Conclusion II follows/ %ad fAHY 11 3IERUI HRT §

4, Both Conclusions I and II foIIows/ﬁﬁW&WW%

Correct Answer :-

« Both Conclusions I and II follows/ Gl FshY aRUT #3d

1—

342

If 4, then the value of x is:/df¢ S

Y x BT HH JTd BIfTY|

12
3. 17

13
4., 17

Correct Answer :-

39) Which of the following fraction is the smallest?/fH f3=71 ® &9t 9@ B 82



15 19 24 34

16'20'25'35
19

1, 20

24
2. 25

15
3. 16
34
4. 35

Correct Answer :-

40) Kathir is senior of Ganesh. Ganesh is senior than Apparu. Apparu is junior of Raju. Raju is

junior of Ganesh. Who is the most senior?/ w, W@ﬂﬁ'ﬂ%l Tl'lﬂ'ElT, U ﬁﬂﬁg%l UTS,
IS A HAY 1 I, N A FAF I qeR aRg FIA & 2

1. Kathir/ BTfR
2. Apparu/ dWR

3. Ganesh/ OS]
4. Raju/ X1

Correct Answer :-

« Kathir/ ®1R
41) CANCELLED

What type of mirror can be used to obtain the real image of an object?/ et

fis 1 areafae wlifds T & I ST g1+ a1aT guor S+ 7'

1. Convex mirror/ 3/add guul

2. No mirror can produce a real image/ ®Is Ht gUUI IRl ufafds T8 &1 Tbar
3. Plane mirror/ @A UUl

4. Concave mirror/ B?IFTE{CTUT

Correct Answer :-

« Concave mirror/ 3Td ST



42) CANCELLED

Which of the following districts of Madhya Pradesh shares its borders both with the states

of Uttar Pradesh and Chhattisgarh?/ 7Oy & fgfafad el # | $i4- 31 forer Suv uew
3R BTG Y IS & F1Y FHAT TS BT 82

1. Damoh/GHg
2. Sidhi/ et

3. Jhabua/ STg3HT
4. Rewa/ 3Jd1

Correct Answer :-

« Sidhi/ et
43) CANCELLED

DIRECTIONS: In the question below are given few statements followed by
few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./fAc=r: 1= fou 7T v § 5 Y= ik 39
a1 $o frepd fau e g1 sy AT T wy= & I AT @ YA 8 A Tdya aa ¥ i
wodta gia i | Wt st &) ufew fbr aa sifere % faw 7o et & @ e fAsed fg 1o
HYHI BT AHTNT U J SFE HdT 8, TTe JawTd 9 o M g

Statements:/HY:

All pencils are houses./ ?T‘l-ﬁﬂﬁlﬁ, W@I%I

All houses are eraser./ 94l W, IS B
Conclusions:/ ﬁ'mﬂf:

I. All pencils are eraser./ 91 URRrd, 398 &1
II. Some erasers are pencils./ PTG, ﬁﬁlﬁ?l
III1. All erasers are pencils./ Hﬂ-ﬁﬁ's, ﬂﬁlﬁ%'l
1. Only I and II follow/&ad I R 11 GIWW%
2. None follows/®g &fﬂﬂwﬁm g

3. Only II follows/&dd I1 38R0l HRT &

4. All follow/ Tt SFTERUT &xd &

Correct Answer :-

. Only I and II follow/®dd I 3R II ¥R & &



800 chocolates were distributed among the students of a class. Each student
got twice as many chocolates as the number of students in the class. The
number of students in the class was:/800 IiPac TP H&l & faenfay # ardt 1|
e TS BT ! H&T H BT B T-AT B SR Aipare frad 8, 9 Ham & S @t T

1.20
2.35
3.30

4.25

Correct Answer :-

The simplification of

Ll L

il en

w
ol o

4.5

Correct Answer :-

46) A and B invested Rs.7,000 and Rs.10,000 respectively in a business. A left the
business with his money after 9 months and at the end of the first year they
earned a profit of Rs. 6100. What is the share of B in the profit?/ A 3T B

<t IR & HHRM: Rs.7,000 3R Rs.10,000 =T #3d § | A, 9 HEH FIg SU=T AR AB
TR BIS 3T 2| TS Il & 3id § Pl @Y Rs.6100 | B BT a1y § R & ghmm?

1. Rs.4800
2. Rs.5600
3. Rs.2600

4. Rs.4000

Correct Answer :-



e Rs.4000

47) If the students of a class can be grouped exactly into 6 or 8 or 10, then the
minimum number of students in the class must be: /3fc T% H&1H! BT 61 6 AT 8
T 10 & TYE! | FleT STd1 8 d), F&T & YAaw fbaq a1 82

1. 120
2. 240
3. 60

4. 180

Correct Answer :-

e 120

48) A sum of Rs.1600 gives a simple interest of Rs.252 in 2 years and 3 months.
The rate of interest per annum is:/ Rs.1600 &} YRIRI WX 2 99 3 'FI?’IQIWHT%HTUTW
Rs.252 8, ST &1 & &

1. 6%

) 1%

3 8%

1
. 55%

Correct Answer :-

49) In what time will Rs.1000 becomes Rs.1331 at 10% per annum compounded

annually?/10% Y& Tshgies TS B &3 A Rs.1000 fHa- T A Rs.1331 81 T2
1.2 years/ 2 G
2.3years/ 3 ¥
3.5 years/ 53y

4. 4 years/ 4 G

Correct Answer :-

« 3years/ 3 G



50) Who is known as father of ‘texonomy’?/ A aifezur fagm= &1 = |1 SiTan
8?2

1. Linnaeus/ fafag

2. None of these/ STRIGd & 4 PIs -Tg!

3. Theophrastus/ fﬂtﬁﬁﬁﬂ

4. Lamarck/ AR

Correct Answer :-

« Linnaeus/ fafag

51) A train with a uniform speed passes a platform, 122 meters long, in 17
seconds and a bridge, 210 meters long in 25 seconds. The speed of the train

is: /T UM A A Tt §5 Tb YS! 122 Hie dd WewTH &I 17 s § ad1 210 Hex d@d
a1 IR H § 25 b s &1 IHYT At ¢ | Yes! 3t 1fd Farse|

1. 37.5 kmph/37.5 foodi/eer
2. 39.6 kmph/39.6 fobHl/EeT
3. 46.5 kmph/ 46.5 foHi/eer

4. 37.6 kmph/37.6 fHl/EeT

Correct Answer :-

« 39.6 kmph/39.6 fHl/EeT

52) A train is 125 m long. If the train takes 30 seconds to cross a tree by the
railway line, then the speed of the train is:/125 ﬁamﬁwmw&m
F PR TS TP U8 & TR H3A H 30 AHS BT YT Adl 8 1 @St &1 7 Ia15¢|

1. 12 km/hr/12 f&H/Eer
2.15 km/hr/15 feHi/eer
3. 16 km/hr/16 f&HI/EeT

4. 14 km/hr/14 f&H/Eer

Correct Answer :-
« 15 km/hr/15 faHi/EeT
53) One of the pandemic diseases is?/ A9 # T ®I9 I TH ATH (FTHT) HETH &:

1. Filariasis/ gt ur@

2. Influenza/ SUIUSIT



3. Hepatitis/ gUcT3icd

4. Amoebic dysentery/ ORI

Correct Answer :-

« Influenza/ SURIUST

54) From the given alternative choose the one who is different from other

three alternatives./ f3T T faweul & 3 39 fawey & gig, ot o &9 fawedi A =T 81
1. Smuggling/ﬂw

2. Blackmail/ ?-FCFI‘C(PIBZI

3. Forgery/ i@l

4. Snobbery/ AJ®dl

Correct Answer :-

« Snobbery/ AJ&dl

55) The gravitational force with which the sun attracts the earth?/ i forg
T q Tl B MHiia wear § 982

1. Is less than the forces with which earth attracts the sun/ 39 9@ 9 &H 8T & oY gt
T &) 3TpTNid B &

2. Is the same as the force with which earth attracts the sun/ ugwaa%w%ﬁh
R gedt g ) 3 el §

3. Is more than the forces with which earth attracts the sun/ ITTAH &m@?ﬂ%ﬁﬁﬁ
Tt g DI BN R &

4. Is constant through the year/ Iy g A= Xgdl %

Correct Answer :-

« Is the same as the force with which earth attracts the sun/ HEWW?W%@
o geaht g & STt Bl &

56) While sowing seeds, the fertilizer commonly used contains?/ dill &1 JUd

UG ATHAG: DI A1 3P SUUNT § AT 91T o
1. Calcium/ Pfeqay

2. Potash/ UICTRI

3. Phosphorus/ IR IRY

4. Nitrates/ :ns%;c’



Correct Answer :-

. Phosphorus/‘ﬁmﬂw

57) The deficiency of vitamin A causes?/ facIfiiF T & & A S 11 T 8 IHd1 §:
1. Weakness/ HHWRT

2. Dysentery/ o

3. Hair to fall/ STql &1 FST

4. Right blindness/ 13 3ferdl

Correct Answer :-

« Right blindness/ 1 3fear

58) Alloy steel containing chromium to resist rusting is known as?/ ﬁrsr%rrg'

ST # I g 8 St ST & U 3aRtY P H1d $eal & 39 6 719 & FH7 el 3
1. Wrought iron/ W?*ﬁ%T

2. Stainless steel/ ¥TeE LIl

3. Hard steel/ &S dlgl

4. Cast iron/ BT A8l

Correct Answer :-

« Stainless steel/ R TId

59) The dreaded human disease, syphilis, is caused by?/ WWW@"T
Hfrd &1 RS 32

1. An animal parasite/ W\_rlﬁtl?ﬁﬂ?ﬁ
2. A bacterium/ U SiidTy]
3. Virus/ faumg

4. Fungus/ &dad

Correct Answer :-

« A bacterium/ T SId17]

60) 1f the sum of the interior angles of a regular polygon be 10809, the number

of the sides of the polygon is: /f&ft SgYs & 3ATafk® 10N BT AT 10800 B 1 TgYS Bt
YeAT3Ht BT =T 1 B |



1. 12
2.10
3.6

4.8

Correct Answer :-

61) Looking at a photograph a person said “I have no brother or sister but
that man’s father is my father’s son”. At whose photograph was the person

looking at?/ U a¥dR &1 3Wd U U HfeT A HgT '"ART HIS YT °T 98 el & g 39
it & far W fUar s143 2 aafe frae adR 3@ T ur ?

1. His nephew/39®T Hdtol
2. His sons/3Y9®T A
3. His father/39d fUdr

4. His own,/¥dd &1

Correct Answer :-
« His sons/3dRT YA

62) DIRECTIONS: From the given alternative words, select the word which
cannot be formed using the letters of the given word./ﬁﬁ-‘d: frafafed fawea #
W 98 Xeg A 11 FAT 7T g & 3U&RT BT YN HXP 51 ST Sl Ah el 8-

GENERALIZATION
1. GOAT

2. NOTE

3. LIZARD

4. RATION

Correct Answer :-

« LIZARD

63) DIRECTIONS: Study the following information and answer the questions

given: /A8 18 @R @ eFgd® ue ik e feu eyl & SR S

A, B, C, D, E, F and G are sitting around a circle facing the centre, not
necessarily in this order. D is not second to the left of F but D is second to
the right of A. C is third to the right of A and C is second to the left of G. B is



not the immediate neighbour of G. Then, who is sitting to the immediate

right of C?/ A, B, C, D, E, F 3R G T A & TRI 3R &% B! 3R Yg FIP 93 &, S

T PRl pad S e ID, FF AU AGIRTTE g IRgD, AF ST AEIRTIEIC, AF T A

%ngg%aﬁvc, G I A GBI B, G FT fAFHean uskil 7t g1 at, ¢ F Fpean qrit #14
?

1.E
2.D
3.B

4.G

Correct Answer :-

64) DIRECTIONS: Arrange the following in a logical order:/ fAd21: fA &t T
3rfquf vy o sqafeud w31

(i) Weekly/ |TqaIie®
(i) Daily/ ufafea

(iii) Monthly/ ATRI®
(iv) Fortnightly/ Uiféi®
(v) Bimonthly/ fgaf¥re
1. (v), (i), (ii), (iii), (iv)

2. (i) (iv), (iii), (i), (v)

3. (i), (i), (iv), (iii), (v)

4. (iv), (i), (i), (iii), (v)
Correct Answer :-

® (”)I (I)I (iv)l (“I)r (V)

65) The average marks obtained by 40 students of a class is 86. If the 5 highest
marks are removed, the average reduces by one mark. The average marks of

the top 5 students is: /40 faenfial &1 He&m & 3id 3P 86 &1 Tl 5 TaTeaH 3iP geT &
SITE o 3iId 1 3ich & 81 oI1aT 8, Y 3 5 faenfia) &1 siiaa sie 3i1d Fiforg|

1. 96
2.97
3.93

4.92



Correct Answer :-

66) The average age of P, Q and R is 25 years. If the total age of P and Q
togetheris 39 years, then R’s age is:/ P, Q d4TR 4| 3ﬁwrang 25 ?:I'Gf%l gfe P 3R Q
P P MY 39 7Y §, df R Bt Mg F1d Be |

1. 19 years/19 ¥
2.22 years/ZZEIEf
3.28 year/28?:|13f

4, 36 years/36 G

Correct Answer :-

« 36 years/36 G

67) A boy runs 20 km in 2.5 hours. How long will he take to run 32 km at
double the previous speed?/T® &fdd 2.5 Ge ® 20 fhift #t g T R awar g1 afe a8
ST T B QAT B ¢, < 3 32 forelt o1 g8t 79 = | foea=n wwa a2

1 1
1.22 hours / 22 ©¢
1 1

2. 45 hours/ 4E Te
3. 5 hours/5 He

4. 2 hours/2 He

Correct Answer :-

« 2 hours/2 ©¢

68) The best conductor of heat among liquids is?/ WWWWWE
#Fad Ao e:

1. Alcohol/ Teshlgd

2. Ether/ 'sC%R

3. Mercury/ URT

4. Water/ SId

Correct Answer :-

« Mercury/ URT



69) The mammal that lays eggs is?/ PIAT IR & o 32 3T §:
1. Opossum;/ 3TUTH

2. Otter/ 3{Ic?

3. Kangaroo/ 7=

4. Duck-billed-platypus/ & fots @ieaq

Correct Answer :-

« Duck-billed-platypus/ & fots wfeuq

70) For the rear view, motorists use?/ tﬁ%aﬁnﬁﬁhﬁ%ﬁqwﬁﬁm
BT SYUNT BT &

1. Convex mirror/ RNEALY
2. Cylindrical mirror/ SGTHR gUUT
3. Plane mirror/ AT guu

4. Concave mirror/ 3fadd gqur

Correct Answer :-

« Convex mirror/ 39d &4ur

71) Which of the following plant hormones controls fruit ripening?/ fada
DT UTGY FTHIA Wil BY UhA HT =01 T &

1. Ethylene/ TYTSfe

2. Zeatin/ forfed

3. Auxins/ 3fifaa

4. Gibberellic acid/ fiTsRfere

Correct Answer :-

« Ethylene/ QYT

72) Simplify: /93 B9:
| T *
{3 ﬂ' 5\,-’?J [3 ﬂ' 5\,-’?J

1. 52

2.58



3. 512

4, 5%

Correct Answer :-

73) Food is cooked faster in a pressure cooker because?/ﬂ-ﬁﬁqﬂwwﬁ'ﬁlﬁﬁ
¥ U 11 § 12

1. Steam is hotter than the boiling water/HTg 9@ 9 3ifYe TH gl &

2. In the cooker water starts boiling at a lower temperature/WﬁGﬁWﬂTqWW
UG

3. Heat cannot escape from the cooker/mwﬁwﬁwm

4. Due to high pressure the boiling point of water is raised/3= &Id TR ddY-iH a'd\_rﬂ?ﬂ%

Correct Answer :-

« Due to high pressure the boiling point of water is raised/3= gld TR FYIDh aaryn?n%

74) What is the source of electric energy in an artificial satellite?/ ?ﬁ'ﬁ@'ﬂﬁ
¥ fagaa Seil &1 a1 Tad ghar 6

1. A dynamo/ WS’@ﬁf

2. A thermopile/ T YHBTSH
3. Solar cells/ TR HIRA®BT

4. A mini nuclear reactor/ T @lcl AfHS I T

Correct Answer :-

« Solar cells/ IR PIRABT

75) In a certain code '"HENRY' is written as “Jgpta”, how will COUNTRY be
coded?/ f&ft fAf¥d $ A "THENRY' & “Igpta” foraT wITaT 8, @ COUNTRY f5d R

pied far srgam?
1. Eqwpvta

2. None of these/?flﬁ@fﬁ?f:lﬁ

3. Eqwputa

4. Eqwvpte

Correct Answer :-



« Eqwpvta

76) ‘IC chips’ for computers are usually made of?/mﬁmﬂﬁﬁaﬁ\?ﬂﬁ
o e it gt 8

1. Gold/ Ui

2. Silicon/ T¥ferepT

3. Lead/ @€

4. Chromium/ SIfaad

Correct Answer :-

« Silicon/ IRINCAG]

77) An amount of money is to be distributed among P, Q and R in the ratio of
2:7:9. The total of P's and Q’s share is equal to R’s share. What is the
difference between the shares of P and Q?/U& YRINBIP, Q MRRH2:7:9%
U A fauTa P T AR PSR Q FIFARIR F R F RS, AP IR QP
e &1 3R 7d B |

1. Rs.5000

2. Rs.9000

3. Rs.7500

4. Data inadequate/ 34T 3ifbs

Correct Answer :-

. Data inadequate/ 3UUTd 3fihs

78) The cost price of 24 apples is the same as the selling price of 12 apples. The
percentage of gain is:/ 24 Qdl 154 Ted 12 Ja1 & fIp7 gou & SR1eR 8, O a1 ufa=ra
T B
1. 100%;

1525';*
2. 37

121f'x
3, 27

4. 209%,

Correct Answer :-

. 100%



79) A person has a chemical of Rs.25 per litre. In what ratio should water be
mixed with chemical so that after selling the mixture at Rs.20 per litres he
may get a profit of 25%./T® 3MGH! P URT Rs.25 Ufa eflex aren I¥ma- g | g srgura &
Ut &1 A & A1y AT S arfes frsor B Rs.20 Ui dtex 999 W 25% STATH ER

1.9:16
2.9:14
3.14: 11

4,16:7

Correct Answer :-

e 9:16

80) A man sold an article at a loss of 20%. If he had sold that article for Rs.12

more he would have gained 10%. Find the cost price of that article./t{?ﬁaﬂﬁr
TS I DI 20% BT W a9l 8| e 98 9% DI Rs.12 SifUF Goa W =@, a1 39 10% BT ATy

glell| 9¥g BT 354 Yed J1d B |
1. Rs.22
2. Rs.40
3. Rs.60

4, Rs.30

Correct Answer :-

e Rs.40

81) The ¥oisonous substance that is the main constituent of tobacco is?/

GEICR:] SigSte uerd yara: uran wirar 8
1. Aspirin/ THUIRA

2. Nicotine/ fife

3. Morphine/ ARWBH

4. Reserpine/ YHRA

Correct Answer :-

« Nicotine/ fRpifes



Which one of the following scientists is known as the father of genetics?/

e o @ P9 e &) ARt &1 S-S Hal ol §
1. Gregor Mendal/ IR Hsd

2. Charles Darwin/ EISASICE

3. Hargobind Khorana/ EFWEW

4. T. H. Morgan/ HRER: KT

Correct Answer :-

« Gregor Mendal/ TR Hsd

83) One-fifth of half of a number is 20. Then 20% of that number is: /&t
TBAT & AT BT UT=al 3T 20 B, IH BT BT 20% 3:

1. 60
2.40
3.20
4. 80

Correct Answer :-

84) Daily in the morning the shadow of Taj Mahal falls on Red Fort and in the
evening the shadow of Red Fort falls on Taj Mahal exactly. So in which

direction is Taj Mahal to Red Fort?/ I Jag ¥ dT Hed & BT ATd fhdl IR Usdl 8
3R =2 A e fhan &t B Sie aTl Hed WX uSdl § df aremed, ard fhar S fea ez i g2

1. Southern side/ cf&uft fg=m &
2. Western side/ i3l faxm #

3. Northern side/ﬁﬁmﬂﬁ
4, Eastern side/qﬁmﬂﬁ

Correct Answer :-

. Eastern side/ gd fe=m #

85) A and B can complete a piece of work in 15 days and 10 days respectively.
They contracted to complete the work for Rs.30,000. The share of A in the
contracted money will be:/A 3R B f&:dt &1 &1 pan: 15 e aur 10 R A @+
TPHd &1 38 Rs.30,000 T TH BT &1 B3 BT 31 o, 9t g AR A T A &1 iz fpamn
ghm?



1. Rs.16,500
2. Rs.18,000
3. Rs.12,000

4. Rs.12,500

Correct Answer :-

« Rs.12,000

86) A and B undertook to do a piece of work for Rs.4500. A alone could do it in 8
days and B alone in 12 days. With the assistance of C they finished the work
in 4days. Then C’s share of the money is:/ A d4TB Wib'l'qiﬁ Rs.4500 H S BT
FHT AT 1 A 3T T HI 8 fa ¥ quT B 3rdbar w10 @1 12 3 # w2 a8 1 ¢ ot ggraar
q A R 4 &Y & B1TH T HRa 8, Y Fat AR A € o7 3= 91 B

1. Rs.2250
2. Rs.750
3. Rs.1500

4. Rs.375

Correct Answer :-
e Rs.750

87) A alone can complete a piece of work in 12 days. A and B together can
complete it in 8 days. How long will B alone take to complete the work?/A

P frfidE B 12 A FaIg1 A SR B e M eI s A AP IPAE, I B
3Pl 39 HTH B fva fa=l & dY?

1. 18 days/18ﬁ:f
2.24 days/24ﬁ7f
3.16 days/16ﬁ_*l
4.20 days/20 faA

Correct Answer :-
« 24 days/24 faA

88) How many dots are there on the dice face opposite the face with one

dot?/ ¥9 & U& fo=g ara ware & faudia fvam farg il aran waw ghme



SRR

1.4
2.2
3.3
4.6

Correct Answer :-

e 6

89) How many triangles are there in the following figure?/ ﬁ'ﬂéﬂ?ﬁﬁﬁﬁ\?ﬁ
o1 e fFal 82

N
X/

1. 32

2.28
3.24

4. 20

Correct Answer :-

90) A wire when bent in the form of a square encloses an area of 484 sq. cm.
What will be the enclosed area when the same wire is bent into the form of a

3y

circle? (Take =3 : /TP dR ) 59 TP I P =9 A AIST o141 8, 9 3T gRI ART &a
484 7 Tt 8] TR GRT RRT e T B, Afe SR AR #Y U g & =4 W HiST o

1. 230 square cm/ 230 ¥ IHt
2. 125 square cm/ 125 ¥ Tt
3. 616 square cm/ 616 91 AT

4. 550 square cm/ 550 ¥ IHt

Correct Answer :-



. 616 square cm/ 616 a1 I

91) The movement of eggs from the ovaries to the uterus proceeds through

the?/ AT 38 FT T ST | TR Ft 3R fFad gRI T
1. Fallopian tube/ Talua Feft

2. Placenta/ THATE

3. Cervix/ Htar

4. VVagina/ qi

Correct Answer :-

« Fallopian tube/ TallfUa= =cit

92) Ozone is important to mankind because it?/ 39 #-d ¥HgA & forg 9gd
TITTS § T ?

1. Creates a protective coverage against ultraviolet rays/ W@WW@[W%W
Had I &

2. Releases hydrogen in the atmosphere/ gard 6|$§\|\s|-1 R RGN

3. Releases oxygen in the air/ 8aT H 3iaiiv ST Bl &

4. Maintains the temperature of the earth/ gdl &1 d9dM fafd &l &

Correct Answer :-

» Creates a protective coverage against ultraviolet rays/ W@WW@[W%W
ELCEEINIE

93) The International Rice Research Institute is based in?/ GIT-I?'\@'!TW
ST R FEl U 82

1. Nigeria/ BIESIIReI

2. Mexico/ Afega!

3. Australia/ SfRcfer

4. Philippines/ ftheiidig

Correct Answer :-

« Philippines/ ety

94) The artificial kidney operates on the principle of?/ $f3% 95 f&a Rigia w®
B Hl 8



1. Osmosis/ TRTERU

2. Active transport/ Tfshg uRkdgd
3. Dialysis/ 3UreA

4. Diffusion/ foRor

Correct Answer :-

« Dialysis/ 3Uig

95) Mahima starts at point T, walks straight to point U in north direction
which is 4 ft away. She turns left at 90° and walks to W which is 4 ft away
then turns 90° right and goes 3 ft to P. Again turns 90° right and walks 1 ft
to Q, turns left at 90° and goes to V, which is 1 ft away and once again turns
90° right and goes to R, 3 ft away. What is the distance between T and R?/

afgar, farg T 9 SR &1 o= & Ta= 1 iRy Fdl 8 3R e farg U aor ard e 1 4 Ble gr 21
T8 90° RIS MR W awr I W1 4 Wie g 8 | fhR 900 R st 3 3R P a&
ST 8 o 3 Wie gr 8, fhy 3 900 R 3t gsdi 8 3k Q % 1 Wie wirdl 8 fihR 90° W amg
ol 2 3R V & W1t 8, il i 1 Bie g @ iR iy @ 900 W 3¢ Y& R a9 W1 € &t 3
Ble g 81 T 3 R & aem g fpait g2

1.5 ft/ 5 ®ic
2.4 ft/ 4 ®IC
3.7 ft/ 7 ®IC
4.8 ft/ 8 BIC

Correct Answer :-

. 8ft/ 8 Blc

96) Boric acid is a/an?/ 9 3 g1 & U:
1. Germicide/ 3{HATRID &dl

2. Antibiotic/ Ui

3. Strong antiseptic/ WWW

4. Mild antiseptic/ WWW

Correct Answer :-

« Mild antiseptic/ S?m"rill IQ!@ b

97) The heaviest among the inner planets in the?/ 3iaiv® gl H o ‘l-l'lﬂ‘il's'?ﬁ:r
HT%



1. Mars/ TTd
2. Mercury/ g4

3. Venus/ YH
4. Earth/ gt

Correct Answer :-

« Earth/ gt

98) The gas that causes atmospheric pollution is?/ ﬁﬂﬁﬁva@qﬁﬂuww
PRSP 8?2

1. Sulphur dioxide/ TThR SIS RISS
2. Steam/ 44U

3. Oxygen/ IENIE]

4. Nitrogen/ :HE@GFI

Correct Answer :-
« Sulphur dioxide/ TSRS

99) Two numbers are in the ratio of 3:5. If 9 is subtracted from each then they
are in the ratio of 12: 23. Find smaller number./ﬁﬁ'@T&ﬁW&HQH3 : 5%| tr[%aﬁ’r
T A UAS | 9 TSI AT, df STHT U 12 : 23 §, <l BIE T J1d B |

1.33
2.55
3.49

4. 27

Correct Answer :-

100) The chemical used for artificial ripening of green fruit is?/ g # Q4 F=h
IATT § ForI®T ST 39 U A 8% Bal Bt e[ & fore fvar s &

1. Carbon dioxide/ &Ta- S8 MRS

2. Ethylene/ TYUTSfeH
3. Ethane/ Q?ﬁ

4. Carbide/ ®19isS



Correct Answer :-

. Carbide/ ®EsS



